EXHIBIT 8

IN THE UNITED STATES DISTRICT COURT FOR THE EASTERN DISTRICT OF PENNSYLVANIA

KING DRUG COMPANY	Civil Action No.
OF FLORENCE, Inc., et al., on behalf of themselves and all others	2:06-cv-01797-MSG
similarly situated,	
Plaintiffs,	Judge Mitchell S. Goldberg
v.	
CEPHALON, INC., et al.,	
Defendants.	

DECLARATION OF RUSSELL A. CHORUSH IN SUPPORT OF CLASS COUNSEL'S MOTION FOR AN AWARD OF ATTORNEYS' FEES, REIMBURSEMENT OF EXPENSES AND INCENTIVE AWARDS TO CLASS REPRESENTATIVES

I, Russell A. Chorush, under penalty of perjury under the laws of the United States of America, declare as follows:

- 1. I am a partner of the law firm Heim, Payne & Chorush, L.L.P ("HPC"). I am submitting this declaration in support of Class Counsel's motion for attorneys' fees and reimbursement of expenses in connection of services rendered by my firm in the above-captioned litigation. A firm biography and the biography for each attorney currently employed by HPC is available upon request and on HPC's website, www.hpcllp.com. The factual matters set forth herein are true and correct to the best of my knowledge, information and belief.
- 2. HPC was responsible for issues relating to patents and intellectual property in connection with the above-captioned litigation. HPC's responsibilities included issues relating to the validity, infringement, and enforceability of United States Reissue Patent No. 37,516, as well

as to whether that patent was procured by fraud within the meaning of *Walker Process Equip. v.* Food Machinery and Chem Corp., 382 U.S. 172 (1965). HPC's responsibilities also included issues relating to aspects of the reverse payments involving intellectual property, most notably the intellectual property licensed by defendant Teva Pharmaceuticals USA, Inc. to defendant Cephalon, Inc. In particular, HPC was involved in the following specific activities in this case:

- Review and coding of documents;
- Preparing for and taking depositions of fact witnesses whose testimony related to patent and intellectual property issues including the depositions of Mssrs. Burgoon, Hrubiec, Mallamo, Heacock, and Grebow;
- Assessing the documentary and testimonial evidence, researching relevant legal issues, and formulating strategy and preparing memoranda on the merits of various legal positions and strategies;
- Assisting in the preparation of expert reports and in the defense of depositions for plaintiffs' expert witnesses including Mssrs. Doll, Hoxie, Warcoin, Ahner and Dr. Brittain;
- Preparing for and taking depositions of defendants' expert witnesses
 whose testimony related to patent and intellectual property issues
 including the depositions of Drs. Antonietti, Bugay, Van Campen,
 Williams, and Myerson, and Mr. Karet;
- Drafting of pleadings and briefs related to patent and intellectual property issues including drafting and responding to interrogatories, requests for admission; responding to motions to dismiss; and drafting and responding to motions for summary judgment, *Daubert* motions, and various motions to strike;
- Assisting Apotex with various issues pertaining to the *Markman* hearing and trials in the litigation relating to Cephalon's RE '516 Patent;
- Attending and participating in hearings and mediations; drafting presentation materials for hearings and drafting mediation materials; and
- Preparing for trial.
- 3. All attorneys, paralegals and law clerks at my firm were instructed to keep contemporaneous time records reflecting their time spent on this case.
 - 4. The schedule below is a summary of the amount of time spent by my firm's

attorneys, paralegals, assistants and law clerks: (a) from the inception of the litigation through July 27, 2015, the date that the Court granted preliminary approval of the Settlement with the Cephalon Defendants; and (b) time from July 27, 2015 through the date of this submission that relates to the Settlement.

5. The schedule was prepared from contemporaneous, daily time records regularly prepared and maintained by my firm. Time expended in preparing this application for fees and reimbursement of expenses has not been included in this request.

Name	Status	Total Hours	Current Hourly Rate	Lodestar
Michael F. Heim	Partner	5.00	825.00	\$4,125.00
Russell A. Chorush	Partner	2152.10	775.00	\$1,667,877.50
Douglas R. Wilson	Partner	721.50	635.00	\$458,152.50
Miranda Y. Jones	Partner	838.25	475.00	\$398,168.75
Nate J. Davis	Partner	11.25	475.00	\$5,343.75
Alden G. Harris	Former Associate	17.25	325.00	\$5,606.25
Blaine A. Larson	Associate	16.80	315.00	\$5,292.00
Nick P. Patel	Former Associate	84.75	300.00	\$25,425.00
Chris M. Koepke	Former Associate	43.00	300.00	\$12,900.00
Carrie J. Anderson	Paralegal	129.05	265.00	\$34,198.25
Amber L. Akins	Assistant	57.75	165.00	\$9,528.75
Natasha M. Baudoin	Assistant	9.80	160.00	\$1,568.00
Amanda M. Wilson	Former Assistant	20.50	160.00	\$3,280.00
TOTAL LODESTAR	\$2,631,465.75			

6. My firm has also incurred a total of \$321,537.56 in unreimbursed expenses in connection with the prosecution of the litigation. These expenses were reasonably and necessarily incurred in connection with this litigation and include:

Expense Description	Amount
Telephone/Teleconference/Facsimile	\$890.64
Photocopies – Outside	\$1,390.54
Postage/Air Express/Messengers	\$3,103.91
Filing Fees	\$865.40
Research	\$16,335.76
Travel/Hotel/Meals	\$85,153.93
Litigation Fund Assessments	\$213,000.00
Other (miscellaneous)	\$19.38
Other (deposition transcripts)	\$778.00
TOTAL EXPENSES	\$321,537.56

7. The expenses incurred in this action are also reflected on the books and records of my firm. These books and records are prepared from expense vouchers, receipts and other source material and accurately record the expenses incurred.

HEIM, PAYNE & CHORUSH, L.L.P.

Russell A. Chounge

Russell A. Chorush, J.D., Ph.D.

Dated: September 11, 2015